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Solutions to Example 2:
	[image: Graphical user interface, application

Description automatically generated]
		[image: Graphical user interface, text, application

Description automatically generated]
· Example 3
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Solutions to Example 3:
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0.75(8+¢) =2 - 125
0.75(8+ (~2)) 2 - (1.25(-2))
0TE-2) 2 (-25)
073(6) 22425
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Solve for f.
Give anexact answer.

405 -025) =6+ f
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1/3 We nced to manipulate the cquation to get f by tsel

273 4(05f - 025)=6+f
2f-1=6+f  Distribute
9f ~1-f=6+f-f  Subtractffromeachside
F-1=6  Combinelke terms
F-141=6+1  Addltoeachside
F=7  Combine ke terms

3/3 | Theanswer:

=T lLets checkourwork]
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Soveford.
Give an exact answer.

05(7d+4) =7 15d

d
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1/3 W need to manipulate the equation o get d by itsel

2/3 05(7d+4) =7 15d
35d+42=7-15d  Distribute
35d+2+15d=7-15d+15d  AddL5dtoeachside
5d4+2=7  Combinelike terms
5d42-2=7-2  Subiract2 from each sde

5d=5  Combine like terms

Divide each side by 5

d=1  Simpliy

3/3 Theanswer:

d=1 (Lets checkourwom]
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05(7d+4) =7 154
05(7(1) +4) 27 15(1)
05(7+4) 2715

05(11) 255
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Solve fore.
Give an exact answer.

075(8+¢)=2 - 125

e=
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1/3  Weneed to manipulate the equation to get € by tself.

2/3 0.75(8+¢) =2 - 125
6+075c=2-125  Distriute

64075+ 125e =219+ 12e  Add125e toeach side
6+%=2  Combinelike terms

642 6=2-6  Subtract 6 from each side

Combine ike terms

Divide each side by 2

e=-2  Simpliy

3/3 Theanswer:

e=-2 (Letscheck ow work]




